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3 bit table
Ak binary As A do af af af
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State diagram

000
0010

t

3 flip flops are needed to store 8 states

Any of the flip flops topology can be chosen this will

decide the complexity of the associated combinational circuit
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0 0 0 0 0 0 1 0 0 1 is used
1 0 0 1 1 0 1 0 0 1 1

I Itafes I
4 1 0 0 4 1 0 1 0 0 1

5 1 0 1 5 1 1 0 0 1 1

6 1 1 0 6 1 1 1 0 0 1

7 1 1 1 7 0 0 0 1 1 1
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Next state Y
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n 0 n 1 no net

S S A O 0

A B A 0 0

B C A o o
No redundant

States

C S D O 0

D S A 1 1

5 states 3 flop flops



Choosing 3 J K flipflop for the implementation
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Present state 11 its n ns

S S A O O S 0 0 0
A B A 0 0 A 0 0 1
B C A 0 0 B O 1 0
C S D O O C O 1 1

D S A 1 1 D 1 0 0



n Present state Next state Js Ks J2 K2 Joks
O O O O 000 0 X O OX

1 0 0 0 00 1 0 X O X 1 X

O O O 1 0 1 0 0 X 1 X X 1

1 0 0 1 001 0 X O X 0
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Moore circuit to Mealey circuit
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1 KB memory
Bytedata

Readwrite
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4 bit register

1010101101
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